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நீங்கள் தேர்வில் வெற்றி வெற பின்ெற்ற தெண்டிய  
விதிமுறறகள் & வெயல்முறறகள்:- 

 
1. ஒவ்வெொரு முறறயும் ெடிப்ெேற்கு முன் குளிர்ந்ே நீரில் முகம் கழுெவும். பின்பு வேொடரவும். 
2. ஒவ்வெொருெரும் குறறந்ேெட்ெம் 5 தெர் அதிகெட்ெம் 10 நெர்கறை இறைத்து (அல்லது) 

உங்கள் விருப்ெப்ெடி அறைத்தும் ெொடத்திட்டங்கறை விெொேம் வெய்து வேளிவுவெறலொம். 
3. கற்றல் கட்டுகறை ெடித்ேபின் தேர்றெ எழுதிப்ெொர்க்கவும். வேரியவில்றலவயனில் கற்றல்களில் 

தேடி ெொர்க்கவும். 
4. ஒவ்வெொரு நொளும் கொறல, ைொறல இரண்டு தெறலயும் குறறந்ேது 10 நிமிடைொெது ைன 

அறைதிக்கொக தியொனம் வெய்யவும். 
5. இரவு ெடுக்க தெொகும்முன் மிகவும் கடினைொன (சூத்திரங்கள், தேதிகள், இலக்கை விதிகள்) 

முக்கிய ேகெல்கறை 10 நிமிடம் ைனப்ெொடம் வெய்துவிட்டு ெடுக்கவும். 
6. ைன அறைதிவெற சிறிதுதநரம் இயற்றகறய ரசிக்கவும் அல்லது சிறுகுழந்றேகளுடன் 10 

அல்லது 20 நிமிடங்கள் விறையொடவும். 
7. உங்கள் குடும்ெ நெர்கள் ைற்றும் நண்ெர்களிடம் ஆழைொன நம்பிக்றகயுடன் வெற்றிவெறுதென் 

என வெொல்லி ைகிழ்ச்சி அறடயுங்கள். 
8. கற்றல் கட்டுக்கறையும் தைலும் ேகெல்கறையும் திட்டமிட்டு ெடிக்கவும். 
9. உங்கள் ெண்ைக்கனவுகள் அறனத்தும் நிறனவுகைொக ைொற வேொடர்ந்து கடுறையொக 

உறழக்கவும். 
10. கற்றல் கட்டுகளில் ெடிக்கும்தெொது சிகப்பு தெனொவினொல் அடிக்தகொடிட்டு ெடிக்கவும். 
 

ைன ைகிழ்ச்சி வகொள்ெேற்கு 
 முடியும் என்று நம்பு அதுதெ 
 உங்கள் முன்தனற்றத்திற்கொன வேம்பு 
 முடியொது என்று முடங்கிக் கிடந்ேொல் 
 மூட்றடப்பூச்சியும் முதுகில் ஏறி ெெொரி வெய்யும் 
 அதுதெொல் நீங்களும் 
 திடைொன முயற்சிதயொடும் 
 கடுறையொன ெயிற்சிதயொடும் இறையும்தெொது 
 TRB- தேர்வுகளில் ைகத்ேொன வெற்றிவெற முடியும்  
 ைகிழ்ச்சிதயொடு ெணியில் தெர ெொழ்த்துகிதறொம். 
 

ைன வநருக்கடி மிகுந்ே நண்ெர்களுக்கு 

 நிறனத்ேேற்கு ைொறொக கொரியங்கள் நடக்கும்தெொதும் 

 வெல்லும் ெொறேகள் அறனத்தும் கரடுமுடரொய் இருக்கும்தெொது 

 குடும்ெ வெொறுப்புகள் எல்லொம் நம்றை அழுத்தும்தெொதும் 

 றகயிருப்பு எல்லொம் கறரந்து கடன் வேொல்றலகள் நம்றை வநருங்கும்தெொதும் 

 அதிகைொனொல் - அெெரைொனொல் - அெெரைொக ெற்று ஒய்வு எடுத்துக்வகொள் 

 எந்ே தநரத்தில் TRB - தேர்வில் வெற்றிவெறும் லட்சியத்றே ைறந்துவிடொதே 

 வேொடர்ச்சியொன ெயிற்சி ெொறேவிட்டு விலகிவிடொதீர்கள். வெற்றி நிச்ெயம். 

நல்ெொழ்த்துக்களுடன் 
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Questions - UNIT-1 : TEST-1

A) I-3, II-4, III-1, IV-2 B) I-4, II-1, III-2, IV-3

C) I-1, II-2, III-3, IV-4 D) I-2, II-3, III-1, IV-4

1. Match the following:
1. Peter Ackroyd - I. James Joyce
2. James Boswell - II. T. S. Eliot
3. Samuel Johnson - III. Life of Johnson
4. Richard Ellman - IV. Lives of Poets

A) 1899 B) 1900

C) 1901 D) 1903

2. It is unimaginable that all the following events happened in one year:
1. Arthur Evans discovered the first European civilization; his excavations in Crete revealed a culture that was far older than
either Attic Greece or Ancient Rome.
2. Sir Arthur Quiller-Couch published the Oxford Book of English Verse.
3. Pablo Picasso stepped of the Barcelona train at Gare dʼ Orsay, Paris.
4. Max Planck unveiled the Quantum Theory.
5. Hugo de Vries identified what would later come to be called genes.
6. Sigmund Freud published The Interpretation of Dreams.
7. Coca-cola arrived in Britain.
Identify the year:

A) 1488 B) 1496

C) 1540 D) 1588

3. The Spanish Armada was defeated in:

A) W. Yeats, Lady Gregory, and Edward Martyn B) Jonathan Swi� and his contemporaries

C) H. Drummond, Edward Irving, and John Ervine D) Oscar Wilde and his contemporaries

4. The Irish Dramatic Movement was heralded by such figures as

A) “The General Prologueʼ is appended to The Canterbury
Tales.

B) In all, Chaucer tells thirty tales in this work.

C) The Canterbury Tales remained un_nished at the time of
its authorʼs death.

D) The Wife of Bath, The Clerk, Sir Gawain, and The Franklin
are characters and taletellers in this work.

5. Which of the following statements about The Canterbury Tales is true?

A) The Game and play of the Chess B) The Life of John Picus

C) The History of Richard-III D) Both B and C

6. The prose works of Sir Thomas More include:

A) Chaucer used the rhyme royal, a stanzaic form in some of
his major poems.

B) Chaucer was the author of The Legend of Good Women.

C) Chaucer wrote in English when the court poetry of his day
was written in Anglo- Norman and Latin.

D) Chaucer wrote The Book Named the Governor

7. Which of the following statements is NOT correct?

A) Peter Giles B) Raphael Hythloday

C) Robertson D) John Brown

8. One of the friends of the writer of Utopia is an important character in it. Identify him:

A) It carried only one ballad proper, which was Coleridgeʼs
The Rime of the Ancient Mariner.

B) It also carried pastoral and other poems.

C) It carried a “Preface” which Wordsworth added in 1800. D) It also printed from Grayʼs Elegy Written in a Country
Churchyard

9. Which of the following statements about The Lyrical Ballads is NOT true?
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A) Iambic B) Trochaic

C) Hexameter D) Pentameter

96. One of the most flexible metres_____is a five foot line. It was introduced by Geo�rey Chaucer in the fourteenth century
and has since then become the commonest of metres in English poetry.

A) Both were goddess of love and ware respectively
appearing in Greek pastoral poetry.

B) Amaryllis is a shepherdess mentioned in Shakespeareʼs
romantic comedies; Neaera, a minor character in Loveʼs
Labourʼs lost

C) Both were one-time lovers of Lycidas, the dead shepher D) Amaryllis is a shepherdess mentioned in ancient pastoral
poetry, notably Eclogues; Neaera, a nymph who appears in
Virgilʼs Eclogues.

97. Alas! What boots it with uncessant care,
To tend the homely slighted shepherdʼs trade,
And strictly meditate the thankless Muse? Were it not better done as others use,
To sport with Amaryllis in the shade, Or with the tangles of Neaeraʼs hair?
Who are Amaryllis and Neaera in the above extract from John Miltonʼs Lycidas?

A) b and d B) a and b

C) b and c D) c and d

98. Who among the following are referred to as the “Scottish Chaucerians”?
a. Thomas Hoccelve
b. Robert Henryson
c. John Lydgate
d. William Dunbar
Code:

A) It upheld the idea that we cannot divorce poetry from
knowledge because poetry itself is an object of knowledge.

B) Instead of revealing Englandʼs divisions, it reveled in its
diversity.

C) It alerted us to the term auctor, someone who is both ʻan
originator and one who gives increase ,̓ the best description
for Chaucer himself.

D) It married domesticity to divinity, the bakerʼs Loaf with
the Bread of Life.

99. One of the less noticed and acknowledged distinction of The Canterbury Tales is that

A) 1830–1900 B) 1837–1901

C) 1830–1901 D) 1837–1900

100. The period of Queen Victoriaʼs reign is

TEACHER’S CARE ACADEMY - 9566535080, 9360268118, 7639967359, 6369036346
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Answers - UNIT-1 : TEST-1

1.Correct Answer : (B) I-4, II-1, III-2, IV-3

2.Correct Answer : (B) 1900

• In the 1900 is the only year all the events happene Sigmund Freud published (1990) The Interpretation of Dream.
• The Oxford Book of English Verse, 1250–1900 is an anthology of English poetry, edited by Arthur Quiller-Couch, that had

a very substantial influence on popular taste and perception of poetry for at least a generation.
• In 1900, Max Planck accidentally created quantum physics when he discovered that energy flows in discrete packets

called quant

◦ 

3.Correct Answer : (D) 1588

4.Correct Answer : (A) W. Yeats, Lady Gregory, and Edward Martyn

5.Correct Answer : (D) The Wife of Bath, The Clerk, Sir Gawain, and The Franklin are characters and taletellers in this work.

• The tale is o�en regarded as the first of the so-called "marriage group" of tales, which includes the Clerk's,
the Merchant's and the Franklin's tales.
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96.Correct Answer : (D) Pentameter

• Iambic pentameter is a type of metric line used in traditional English poetry and verse drama.
• The term describes the rhythm, or meter, established by the words in that line; rhythm is measured in small groups of

syllables called "feet".
• "Iambic" refers to the type of foot used, here the iamb, which in English indicates an unstressed syllable followed by a

stressed syllable (as in a-bove).
• "Pentameter" indicates a line of five "feet".
• Iambic pentameter is the most common meter in English poetry.
• It was first introduced into English by Chaucer in 14th century on the basis of French and Italian models.
• It is used in several major English poetic forms, including blank verse, the heroic couplet, and some of the traditionally

rhymed stanza forms. 
• William Shakespeare famously used iambic pentameter in his plays and sonnets, John Milton in his Paradise Lost,

and William Wordsworth in The Prelude.
• As lines in iambic pentameter usually contain ten syllables, it is considered a form of decasyllabic verse.

97.Correct Answer : (D) Amaryllis is a shepherdess mentioned in ancient pastoral poetry, notably Eclogues; Neaera, a
nymph who appears in Virgilʼs Eclogues.

• Lycidas (1637) is a pastoral elegy by John Milton commemorating the death of his college friend, Edward king who
drowned when his ship sank in the Irish sea in wales in 1637.

• Amaryllis, in Roman literature, a stock female character, a natural, pretty young woman who was usually a
shepherdess.

• Amaryllis is mentioned in classical pastoral poetry and in later works, such as Thomas Campionʼs “I Care Not for These
Ladies” (1601) and John Miltonʼs “Lycidas” (1638).

98.Correct Answer : (A) b and d

• The group of Scottish poets of 15th and 16th century whose works were influenced by Chaucer exercising his seven line
rhyme royal stanz

• Major Poets : Robert Henryson, William Dunbar, Gavin Douglas, Sir David Lyndsay, King James I of Scotlan

99.Correct Answer : (B) Instead of revealing Englandʼs divisions, it reveled in its diversity.

• Instead of revealing Englandʼs divisions, it revelled in its diversity.
• ʻThe Canterbury Talesʼ is a Middle English work by Geo�rey Chaucer.

100.Correct Answer : (B) 1837–1901

• The Victorian era of the United Kingdom and its overseas Empire spans the 63-year reign of Queen Victoria (1837-1901). 
• By this time, the role of the monarch was to reign, rather than rule. Victoria served as figurehead for the nation. 
• The period saw the British Empire grow to become the first global industrial power, producing much of the world's coal,

iron, steel and textiles. 
• The Victorian era saw revolutionary breakthroughs in the arts and sciences, which shaped the world as we know it

today.
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Questions - UNIT-1 : TEST-2

A) B, C, D, E, A B) A, B, C, E, D

C) B, C, D, A, E D) C, B, A, D, E

1. Arrange the following authors in the chronological order of their birth:
A. Oscar Wilde
B. William Langland
C. Geo�rey Chaucer
D. John Dryden
E. Alexander Pope
Choose the correct answer from the options given below:

A) Movement against corrupt practices of the church B) Movement against superstition

C) Movement against immoral life of clergymen D) All of the above

2. What is meant by ʻProtestant Reformationʼ?

A) The Restoration period B) Caroline Age

C) The Augustan Age D) The Age of Johnson.

3. Period between 1700-1745 in English literature is called -

A) up to B) with

C) by D) to

4. Direction: Select the most appropriate option to fill in the blank.
Shakespeare's involvement ______ the Globe theatre is well known to the entire world.

A) John of Gaunt B) John Gower

C) Edward II D) Edward III

5. The Book of the Duchess was written by Chaucer in 1369 to bring solace to

A) The first wave of the second plague pandemic B) The worst specimen of human created tragedy

C) The specimen of human evolution and its evidence D) The initiator of all the future pandemics

6. Comprehension
Direction: Read the given passage and answer the questions that follow.
It is not an exaggeration to say that the question of where and when the Black Death, the deadliest pandemic ever,
originated is one of the biggest mysteries in human history. A�er all, the Black Death was the first wave of the second
plague pandemic of the 14th to early 19th centuries. It killed some 50-60% of the population in Europe, the Middle East and
North Africa and an unaccountable number of people in Central Asia.
Di�erent proposals, based on competing theories, have been put forward. But in 2017, I came across some records
describing an intriguing medieval cemetery in Kara-Djigach, Chüy Valley, northern Kyrgyzstan, which I suspected may hold
the key. As part of a multidisciplinary team co-led by Maria Spyrou at University of Tubingen, we have now investigated
several specimens from individuals buried at that site – and come up with an answer.
The idea that the Black Death originated in the east – territories overlapping, roughly speaking, Central Asia, Mongolia and
China – dates back to the contemporaries of the pandemic in Europe and the Islamic world. The modern, academic Chinese
origin theory dates back to at least to in 1756-8 and a publication about the history of Central Asia by French scholar
Joseph de Guignes.
How does the passage describe Black Death?

A) Producer : Theatre B) Director : Drama

C) Conductor : Bus D) Thespian : Play

7. Find the correct alternative
Diva : Opera

A) Thomas Hooker B) Thomas Nashe

C) Michael Drayton D) William Harvey

8. Who among the following is one of the University Wits?
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Answers - UNIT-1 : TEST-2

1.Correct Answer : (A)

B, C, D, E, A

• William Langland, a middle English author was born in 1332.
• Geo�rey Chaucer, an English poet, author and civil servant was born in 1340.
• John Dryden, an English poet, literary critic and playwright was born on 9 August 1631.
• Alexander Pope, a famous satirist was born on 21 May 1688.
• Oscar Wilde, an Irish poet and playwright was born on 16 October 1854.

2.Correct Answer : (A)

Movement against corrupt practices of the church

• The movement was started by a German clergyman Martin Luther against the corrupt practices of the Roman Catholic
church in the 16th Century. 

• As a result of this movement, Christianity was divided between the Roman Catholic and the Protestant Churches.
• Rome played a main character during this movement. 
• Martin Luther was the main Protestant reformers. 

◦ He wrote Ninety Five Theses criticising many practices and rituals of the Roman Catholic Church. 
• Several traditions of anti-Catholic Christianity developed out of movement

3.Correct Answer : (C)

The Augustan Age

• The English Augustan Age derives its name from the brilliant literary period of Vergil, Horace, and Ovid under
the Roman emperor Augustus (27 B.C. - A.D. 14). 

• In English literature, the Augustan Age, 1700 - 1745, refers to literature with the predominant characteristics
of refinement, clarity, elegance, and balance of judgment.

• Well-known writers of the Augustan Age include Jonathan Swi�, Alexander Pope and Daniel Defoe.
• Novels of this period included the release of the first English novel by Defoe, "Robinson Crusoe," and Pamela, by

Samuel Richardson in 1740.

4.Correct Answer : (B)

with

• We can use "up to" is used to say that something is less than or equal to but not more than a stated value, number, or
level.
◦ Example: We can teach dancers up to intermediate level here.

• We can use 'with' when you're talking about people, or things being together. It means relating to, or in the case of a
person or thing. 

▪ Example: Russia has just drawn up a trade agreement with Norway.
• When we use the passive voice, we can use a phrase with "by" to say who did the action.

▪ Example: The new street was opened by the Mayor.
• We can use 'to' as a preposition to indicate a destination or direction.

▪ Example: Weʼre going to Liverpool next week.
• Here, we are talking about the togetherness of "Shakespeare" and "Global theatre."

Therefore, "with" must be used in the blank.

5.Correct Answer : (A)

John of Gaunt

• Geo�rey Chaucer is widely considered the father of literature.
• He wrote the Book of Duchess to commemorate the death of Blanche, Duchess of Lancaster.
• She was the wife of John of Gaunt the English Prince.
• The book is a dream vision in which a grief-stricken knight played chess with Fortuna and lost the queen.
• The game of chess is a metaphor for the game of life.

Therefore, we can infer from the above-given points that The Book of the Duchess was written by Chaucer in 1369 to bring
solace to John of Gaunt.
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Questions - UNIT-1 : TEST-3

A) He declined the award, citing his objection to the "false
glamour" of prizes

B) He accepted the award but donated the prize money to
charity

C)   He was overjoyed and celebrated the recognition of his
work

D) He was indi�erent to the award and did not comment on it

1. What was Shaw's response to being awarded the Nobel Prize in Literature?

A) I. A. Richards B) F.R. Leavis

C) Lowes D) Walter Pater

2. "Chaucer found his native tongue a dialect and le� it a language." Who makes this observation ?

A) i ii iii iv B) ii iii iv i

C) iii iv i ii D) iv iii i ii

3. Match the following texts with their respective themes:
I. Areopagitica (Milton)
II. Leviathan (Hobbes)
III. Alexanderʼs Feast (Dryden)
IV. The Way of The World (Congreve)
i. Fashion, courtship, seduction
ii. The liberty For Unlicensed Printing
iii. Absolute Sovereignty
iv. The power of music

A) 123 B) 142

C) 104 D) 154

4. The total number of poems in Shakespeareʼs Sonnets is :

A) I and II B) III and I

C) II and III D) II and IV

5. John Drydenʼs two philosophico-religious poems are
I. Absalom and Achitophel
II. A Laymanʼs Faith
III. Annus Mirabilis
IV. The Hind and the Panther
The right combination according to the code is

A) The Pardonerʼs Tale B) The Wife of Bathʼs Tale

C) The Knightʼs Tale D) The Millerʼs Tale

6. John Lydgate begins his Siege of Thebes with a prologue of 176 lines in which he imagines himself joining Chaucerʼs
pilgrims in Canterbury, where he speaks with the Host and agrees to tell the first tale on homeward journey. The story that
Lydgate tells as the pilgrims depart from Canterbury is meant to be a companion piece to :

A) religious tract B) political allegory

C) comic verse epic D) comedy

7. John Drydenʼs Absalom and Achotophel a

A) Praising Roman virtues while endorsing Christian beliefs. B) Celebrating the Restoration while regretting the frivolity
of the new regime.

C) Praising feminine virtues while mocking the fixation on
chastity.

D) Celebrating Cromwellʼs victories while inviting sympathy
for the executed King.

8. What is the delicate balancing act of Andrew Marvellʼs “Horation Ode” ?
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Answers - UNIT-1 : TEST-3

1.Correct Answer : (A) He declined the award, citing his objection to the "false glamour" of prizes

2.Correct Answer : (C) Lowes 

3.Correct Answer : (B) ii iii iv i

4.Correct Answer : (D) 154

5.Correct Answer : (D) II and IV

6.Correct Answer : (C) The Knightʼs Tale

7.Correct Answer : (B) political allegory

8.Correct Answer : (D) Celebrating Cromwellʼs victories while inviting sympathy for the executed King.

9.Correct Answer : (C) (iv) (iii) (i) (ii)

10.Correct Answer : (C) Richard Flecknoe and Thomas Shadwell

11.Correct Answer : (C) II and III

12.Correct Answer : (B) St. Ceciliaʼs was an Armenian devotee of the Christian Faith.

13.Correct Answer : (D) (a) and (4)

14.Correct Answer : (C) The Advancement of Learning – Paradise Lost – MacFlecknoe – An Essay Concerning Human
Understanding

15.Correct Answer : (C) Layamon, William Langland William Dunbar

16.Correct Answer : (C) The way his characters portray the general passions and principles of human nature.

17.Correct Answer : (D) A and C only

18.Correct Answer : (C) The Canterbury Tales remained unfinished at the time of its authorʼs death.

19.Correct Answer : (B) Lord Byron

20.Correct Answer : (C) A and C only

21.Correct Answer : (C) William Caxton prints the first English book – “Tottelʼs Miscellany” (Songs and Sonnets) – William
Shakespeareʼs First Folio – John Miltonʼs Areopagitica.

22.Correct Answer : (D) two cantos
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Questions - UNIT-2 : TEST-1

A) Philosophical, religious, imaginative B) Epic, dramatic, lyrical

C) Narrative, representative, allusive D) Odes, sonnets, eclogues

1. In "Advancement of learning" Francis Bacon divides poetry into three divisions:

A) ʻChildren in the Woodʼ and ʻRobin Redbreast B) ʻChildren at the Norfolk Houseʼ and ʻGrandmother Fieldʼ 

C) ʻRobin Hoodʼ and ʻThe Red Riding Hoodʼ D) ʻRobin Hoodʼs Childrenʼ and ʻGrandmother Fieldʼs Norfolk
Houseʼ 

2. Which two works of fiction recording the history of the house and its children does the narrator mention in Lambʼs essay
“Dream Children”? 

A) Book 4 B) Book 6

C) Book 7 D) Book 9

3. Which book of Paradise Lost incorporates the speech rhythms of Adam and Eve's marital quarrel?

A) Nicholas Nickleby B) Adam Bede

C) The Vicar of Wakefield D) Joseph Andrews

4. Dr Primrose is a character in

A) (i) and (iv) B) (i) and (ii)

C) (ii) and (iii) D) (i) and (iii)

5. In Marlow's Doctor Faustus, what books does Valdes counsel Faustus to study in preparation for conjuring up spirits?
(i) The works of Bacon and Abanus
(ii) The Hebrew Psalter and New Testament
(iii) The works of Ovid and Homer
(iv) The works of Baxter and Horst
The right combination according to the code is:

A) St. Cecilia was a Roman lady, an early Christian martyr B) St. Cecilia was an Armenian devotee of the Christian faith

C) St. Cecilia D) St. Cecilia was patroness of music who was fabled to have
invented the organ

6. One of the following statements about the eponymous saint of Dryden?s ?Song for St. Cecilia?s Day? is incorrect. Identify
that statement.
Choose Your Answer:

A) England B) Germany

C) France D) Italy

7. In what country is 'Dr Faustus' based?

A) Laughed it o�. B) Brushed it o�.

C) Stated that it was the new small talk. D) Stated that it was due to Eliza's upbringing.

8. How did Higgins pass o� her improper conversation.

A) the billiards room B) the smoking room

C) the lounge D) the ball room

9. Where did Mr. Worthing leave his cigarette case the last time he dined at Algernon's house?
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Questions - UNIT-2 : TEST-2

A) factory act of 1833 B) emancipation act of 1833

C) reform bill of 1832 D) education act 1833

1. The…………….was a turning point in the British Political history of Nineteenth Century.

A) a-3, b-2, c-4, d-1 B) a-3, b-1, c-4, d-2

C) a-3, b-2, c-1, d-4 D) a-2, b-3, c-4, d-1

2. Find the related terms from the options given below.
a. "... is, when man is capable of being in uncertainties, mysteries, doubts, with
out any irritable reaching a�er fact and reason."
b. A term applied to language which strikes the ear as smooth, pleasant, and musical.
c. "at the bridal chamber"
d. "seize the day"
1. Carpe Diem
2. Euphony
3. Negative Capability
4. Epithalamion
Code:

A) hard times B) the pickwick papers

C) little dorrit D) bleak house

3. Which novel by Charles Dickens is generally regarded as the first Victorian novel

A) a-4, b-1, c-3, d-2 B) a-3, b-1, c-4, d-2

C) a-1, b-3, c-4, d-2 D) a-3, b-4, c-2, d-1

4. Match I with II
I II
a. Lake Poets 1. Richard Lovelace
b. Cavalier Poets 2. Sylvia Plath
c. Metaphysical Poets 3. Robert Southey
d. Confessional Poetry 4. Andrew Marvell

A) mary anne evans B) christina rossetti

C) mary shelly D) elizabeth

5. George Eliot was the pen name of…………..

A) 4, 3, 1, 2 B) 3, 2, 1, 2

C) 1, 2, 4, 3 D) 2, 1, 3, 4

6. Arrange the following in the chronological order:
1. Mary Wollstonecra�ʼs Vindication of the Rights of Women
2. Lyrical Ballads
3. French Revolution
4. Percyʼs Reliques of Ancient English Poetry

A) elia B) walden

C) tales from shakespeare D) the last essays of elia

7. What was Charles Lambʼs final book?

A) I and II are true. B) II and III are true.

C) II and IV are true. D) III and IV are true.

8. Which of the following statements about Christopher Marlowe are true?
I. Edward II was written in the last year of Marloweʼs life.
II. Many critics consider Doctor Faustus to be Marloweʼs best play.
III. His Spanish Tragedy comes a close second.
IV. Marlowe was less educated than Shakespeare.
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Questions - UNIT-2 : TEST-3

A) Wild Justice B) Criminal Justice

C) Distributive Justice D) Poetic Justice

1. In the first sentence of the article, Sir Francis Bacon defines revenge as being what kind of justice?

A) The faerie Quence B) Mother Hubbard's Tale

C) Epithalamion D) Amoretti

2. What is Spenserʼs eighty-eight Petrarchan Sonnet series called ?

A) He pitied her B) he once loved a widow 

C) Wants to help her D) None

3. Sir Roger was much interested in Andromache because………….

A) The Bad Angel B) The Good Angel

C) an Old Man D) Devils

4. Now, it is too late: "And now, poor soul, must thy good angel leave thee, The jaws of hell are open to receive thee" who
gives this statement?

A) Bishop of Rochester, Earl of Leicester B) Bishop of Rockfield, Carl of Leicester

C) Queen Elizabeth, Earl of Leicester D) Albert Cleetus, Earth Wormulus

5. Complete this sentence:
"Spenser pursued a career in politics, serving as a secretary first for the ________ and then for the ________."

A) I and II B) II

C) III D) IV

6. Which statement(s) below on the Spenserian stanza is/are accurate?
I. A quatrain, unrhymed, but alliterative
II. A stanza of four lines in iambic pentameter
III. An eight–line stanza in iambic pentameter followed by a ninth in six iambic feet
IV. An eight–line stanza with six use of figurative language. Iambic feet followed by a ninth in iambic pentameter

A) I and III B) I and IV

C) II and III D) II and IV

7. In The Advancement of Learning Bacon noted the need for more studies of
I. moral knowledge II. forbidden knowledge Ill. civil knowledge IV. spiritual knowledge The right combination according to
the code is
Choose Your Answer:

A) The poetʼs friend B) Summer season

C) A summerʼs day D) Sun

8. “And o�en is his gold complexion dimmed”. The word ʻhisʼ refer to –

A) Innocence B) Nature

C) A lamb D) Religion

9. What does the lamb represent most?

A) Cosmus believed that the betrayal of friends was beyond
forgiveness.

B) Cosmus believed that there was no case in which friends
should not be pardoned.

C) Cosmus believed that the Bible should be referenced when
considering such a matter.

D) All the above

10. What was Cosmus's position on whether or not to forgive a deceitful or neglectful friend?

A) Steele B) Addison 

C) Huxley D) Swi�

11. Who is the author of the essay ʻSir Roger at the Theatreʼ?
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Questions - UNIT-3 : TEST-1

A) Antony B) himself

C) Rome D) Cassius

1. In Julius Caesar Act III Scene 2, Brutus says that he loves Caesar but he loves ________ more.

A) 4 B) 6

C) 7 D) 8

2. Complete the sentence.
Shakespeare has written _______ historical plays.

A) Comedy B) Romance

C) Tragicomedy D) History play

3. Shakespeare's popular play Merchant of Venice belongs to which of the following literary forms?

A) Hamlet : 1601 B) Twel�h Night : 1601

C) Cymbeline : 1608 D) The Tempest : 1611

4. Which of the following pairs is mismatched?

A) Hamlet, King Lear, Machbeth, Othello B) Hamlet, Othello, King Lear, Macbeth

C) Othello, King Lear, Hamlet, Macbeth D) Hamlet, Macbeth, King Lear, Othello

5. Which is the correct serial of the tragedies of Shakespeare?

A) Christopher Marowe B) William Shakespeare

C) Thomas Kyd D) John Lyly

6. Macbeth, 'King Lear', 'Measure for Measure' are some of the plays by

A) the comedies and histories B) the comedies and tragedies

C) the histories and tragedies D) the tragedies and romances

7. Julius Caesar falls in point of time between:

A) Midsummer Night's Dream B) Romeo and Juliet

C) Two Gentlemen of Verona D) Merry Wives of Windsor

8. Hermia is a character in Shakespeare's -

A) Our Town B) Hamlet

C) Pygmalion D) The Crucible

9. Select the correct alternative from the given ones that will complete the series.
Romeo and Juliet, A Midsummer Nightʼs Dream, Othello, ?

A) 1582 B) 1586

C) 1658 D) 1685

10. When did Shakespeare move to London to become an actor (or poet) ?

A) The plebeians in Coriolanus B) The sisters in King Lear

C) The witches in Macbeth D) The players in Hamlet

11. Who of the following is being talked about in the following lines?
"... you seem to understand me,
By each at once her choppy finger laying
Upon her skinny lips: you should be women,
And yet your beards forbid me to interpret
That you are so."
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Questions - UNIT-3 : TEST-2

A) QSRP B) PSQR

C) RQPS D) SRQP

1. Read the following group of sentences. The first and the last sentences are numbered 1 and 6, while the rest are
numbered P, Q, R and S. Arrange these four sentences in proper order to form a meaningful paragraph.
1. The Romans had been governed by elected kings early in their legendary history.
P. Augustus, the grand-nephew and heir of Julius Caesar, is counted as the first emperor.
Q. As a result of their abuse of power, the Romans expelled them.
R.The idea of "king" was not a generally liked idea before Julius Caesar.
S.They were replaced by ʻyear-kings ,̓ who served in pairs, as consuls.
6. His successors, appointed by the previous emperor or selected by the military, added more and more powers to their
arsenal. 

A) Portia B) Bassanio

C) Shylock D) Brutus

2. Identify the character who is not portrayed in 'The Merchant of Venice'.

A) The way his characters represent particular times and
places.

B) The way his characters exhibit quirks representative of
their humours or professions.

C) The way his characters portray the general passions and
principles of human nature.

D) The way his characters portray real individuals.

3. What attributes of Shakespeareʼs characterization does Johnson admire in his preface to Shakespeare?

A) Love's Labor Lost B) Hamlet

C) Henry IV D) Midsummer Night's Dream

4. " Lunatics, lovers, and poets all are ruled by their overactive imaginations. " These words of Shakespeare are taken
from:

A) Macbeth B) Comedy of Errors

C) Much Ado about Nothing D) None of the above

5. Choose the correct answer from the options given below. 
"Out, out brief candle!"

A) The conspirators would like to be friends with him B) He may take Caesarʼs body to the pulpit and speak to the
crowd praising Caesar for his achievements.

C) His recommendations will be as strong as that of the
conspirators while distributing the powers and benefits to
friends

D) He may join the conspiracy against Caesar

6. The o�er that Cassius makes to Antony a�er Caesarʼs assassination is that ………………..

A) Roderigo and o�icers B) Brabantio, Roderigo and O�icers

C) The Duke and Senators D) Montano and Cassio

7. “Keep up your bright swords, for the dew will rust them.
Good Signior, you shall more command with years.
Than with your weapons.” The above lines are addresses by Othello to

A) Division B) Composition

C) Petitio principii D) None of the above

8. All the works of Shakespeare cannot be read in a day. Hamlet is a work of Shakespeare. Therefore Hamlet cannot be read
in a day. This involves the fallacy of 

A) iii—ii—iv—i B) iii—iv—ii—i

C) i—iii—ii—iv D) iii—iv—i—ii

9. Arrange the following chronologically:
i.Henry VIII
ii. Hamlet
iii. Measure for Measure
iv. Macbeth
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Questions - UNIT-3 : TEST-3

A) 2 4 1 3 B) 4 2 1 3

C) 3 4 1 2 D) 2 3 4 1

1. Match the columns :
Shakespearean Actors Period
I. David Garrick 1. The 19th century
II. John Gielgud 2. The 18th century
III. Henry Irving 3. The Restoration
IV. Thomas Betterton 4. The 20th century

A) ambition B) jealousy

C) murderous motive D) hope

2. According to the Banquo the thing which the witches kindled in the heart of his dearest friend Macbeth was

A) Farce B) Tragedy

C) Musical D) Comedy

3. What type of play is Julius Caesar?

A) 1485-1509 B) 1189-1199

C) 1377-1399 D) 1216-1272

4. When was Richard II King of England?

A) Henry VIII B) Pericles

C) Henry VII   D) Henry VI  

5. Which play was omitted from the First Folio Editors of Shakespeare

A) abcbcbcabc bc dd B) abba abbc decd ee

C) ababcdcdef ef gg D) aa bb cc dd aa bb dd

6. What is the rhyme scheme of the Shakespearean sonnet

A) he was not that courteous B) he did it voluntarily

C) Banquo kept him busy in his confusing talks D) the conferring of the title of the thane of Cawdor to him
made him lose his sanity for the time being

7. Macbeth failed to respond to the greetings of the envoys because

A) 6 January 1367 B) 14 April 1148

C) 8 September 1435 D) 5 December 1188

8. When was Richard II born?

A) Brutus B) Calpurnia

C) Casca D) Cassius

9. Caesar tells Antony he is not capable of fear. But if he was capable of fear, who would he be afraid of?

A) About 3000 B) About 2000

C) About 1000 D) About 6000

10. How many words did Shakespeare actually invent?

A) 1599 B) 1589

C) 1579  D) 1591

11. Shakespeare's Globe Theatre was built in: 

A) barely necessary B) barely needed

C) absolutely necessary D) absolutely unnecessary

12. According to Lady Macbeth for the fulfillment of the prophecies of the witches the murder of King Duncan was
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Questions - UNIT-4 : TEST-1

A) A - 3, B - 4, C - 2, D - 1 B) A - 4, B - 3, C - 1, D - 2

C) A - 3, B - 1, C - 2, D - 4 D) A - 4, B - 2, C - 3, D - 1

1. Match the poems in Column A with the poets in Column B :
Column A Column B

 A. Solitary Reaper  1. Khalil Gibran

 B. Is Life but a Dream?  2. D. H. Lawrence

 C. The Earth  3. Lewis Carroll

 D. Snake  4. William Wordsworth

A) Keats was a surgeon. B) Keats received education in poetry writing.

C) One of his renowned works is the La Belle Dame sans
Mercy.

D) Ode to a Nightingale was written by Shakespeare.

2. Directions:  Read the given text carefully and then answer the question.
John Keats is a very renowned poet who has written some of the most cherished poems like the Ode to a Nightingale, La
Belle Dame sans Mercy, etc. Though Keats received education in the medical background preparing to be a surgeon, he
chose a career in poetry writing. He faced a lot of criticism regarding his poems but in the latter years, his poems became
very famous and were appreciated.
Which of the following can be inferred from the given information?

A) "The Triumph of Life" B) "Ode to the West-wind"

C) Queen Mab" D) "The Daemon of the World"

3. Which among the following is an incomplete poem by P.B. Shelley? 

A) a short play B) a poem

C) a novel D) a prose story

4. A dramatic monologue is

A) England B) Ireland

C) Scotland D) Iceland

5. In the poem, "The Solitary Reaper", Wordsworth addresses this song to one 'Solitary Highland Lass'. What does the poet
mean by the word, 'Highland'?

A) fourteen-line poem B) ten and a half line poem

C) thirteen line poem D) eighteen and a half line poem

6. Curtal sonnet is

A) Both Statement I and Statement II are true B) Both Statement I and Statement II are false

C) Statement I is true but Statement II is false D) Statement I is false but Statement II is true

7. Given below are two statements
Statement I: In Waiting for Godot, it is Vladimir who questions the Boy who comes from Godot towards the end of the two
Acts.
Statement II: In Waiting for Godot, it is Estragon who says, “Nothing happens, nobody comes, nobody goes, itʼs awful.”
In light of the above statements, choose the correct answer from the options given below

A) (a) - (iv), (b) - (iii), (c) - (i), (d) - (ii) B) (a) - (ii), (b) - (iv), (c) - (iii), (d) - (i)

C) (a) - (ii), (b) - (iii), (c) - (i), (d) - (iv) D) (a) - (iii), (b) - (iv), (c) - (i), (d) - (ii)

8. Match the plays to their setting:
 (a)  Krapp's Last Tape  (i)  A country road; A tree.

 (b)  Happy Days  (ii)  Bare interior; Two small windows high up; grey light.

 (c)  Waiting for Godot  (iii)  Expanse of scorched grass forming a low mound; blinding light.

 (d)  Endgame  (iv) A late evening in future; white light.
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Questions - UNIT-4 : TEST-2

A) Christabel B) Dejection: An Ode

C) The Rime Of The Ancient Mariner D) Kubla Khan

1. But oh! that deep romantic chasm which
Slanted Down the green hill athwart a cedarn cover!
A savage place! as holy and enchanted
As e'er beneath a waning moon was haunted
By woman wailing for her demon lover!
These line are taken from:

A) Flora and Fauna B) Books and the importance of
reading.

C) Education for women D) Both 'b' and 'c'

2. Ruskin's Sesame and Lilies is about

A) PB Shelley B) Robert Southey

C) Cardinal Newman D) S.T Coleridge

3. Who wrote, ”Our sweetest songs are those that tell our saddest thoughts”

A) the Sublime B) the Pastoral ideal 

C) the Medieval Age D) the Age of Enlightenment 

4. The Romantic Movement was a reaction against _____. 

A) a-4, b-1, c-3, d-2 B) a-3, b-1, c-4, d-2

C) a-1, b-3, c-4, d-2 D) a-3, b-4, c-2, d-1

5. Match I with II
I                     II
a. Lake Poets 1. Richard Lovelace
b. Cavalier Poets 2. Sylvia Plath
c. Metaphysical Poets 3. Robert Southey
d. ConfessionalPoetry 4. Andrew Marvell

A) Four B) Two

C) Three D) One

6. How many stages are mentioned in the development of Wordsworthʼs love for nature?

A) William Golding, the Inheritors B) Philip Larkin, The Less Deceived

C) William Empson, Collected Poems D) Samuel Becket, Waiting for Godot

7. One of the following texts was published earlier than 1955. Identify the text:

A) A Poison Tree – The Deserted Village – The Blessed
Damozel– Ozymandias

B) The Deserted Village – A Poison Tree – Ozymandias – The
Blessed Damozel

C) The Blessed Damozel – A Poison Tree – The Deserted Village
– Ozymandias

D) The Deserted Village – The Blessed Damozel – Ozymandias
– A Poison Tree

8. Which of the following is the correct chronological sequence?
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Questions - UNIT-4 : TEST-3

A) He is indi�erent B) He is angry and jealous

C) He is amused D) He is impressed

1. How does the Duke feel about the Duchess's behavior with other men in "My Last Duchess"?

A) Marco Polo B) Samuel Purchas

C) Bocchaccio D) Walter Bradford

2. Who wrote the book Coleridge read that inspired the poem?

A) Only I and III are correct B) Only IV is incorrect

C) Only II and IV are correct D) Only I and IV are incorrect

3. “Thou wast no born for death immortal Bird.”
In what sense is the Bird “immortal” as compared to mortal man ?
I. Here man as an individual is unfairly compared to a bird as a species.
II. The word “Bird” stands for the nightingaleʼs song.
III. When considered as a species man is equally “immortal” as the “Bird”.
IV. The “Bird” is “Immortal” because songs of birds have given pleasure to man through the ages.
Find the correct combination according to the code :

A) It suggests that women had little power and agency in
society

B) It suggests that men were expected to control and
dominate their wives

C) It suggests that marriage was a partnership of equals D) It suggests that gender roles and power dynamics were
more fluid and less defined in Renaissance society
wives

4. What does the Duke's treatment of the Duchess in "My Last Duchess" suggest about gender roles and power dynamics in
Renaissance society?

A) Ballad B) Ode

C) Lyric D) Pastoral

5. The Solitary Reaper is a :

A) The poem was written during the Romantic era B) The poem was written during the Victorian era

C) The poem was written during the Renaissance era D) The poem was written during the Modern era

6. What is the historical context of "My Last Duchess"?

A) opium dream B)  psychosis

C) alcohol D) nitrous oxide

7. And where did he get the visions he founded his poem on?

A) does not come; hid better not come B) comes not; might come not

C) come not; had better not come D) come not; did not come

8. One of the most quoted statements on poetry by John Keats is reproduced with blanks below. Complete the statement
with correct words. If Poetry __________ as naturally as the leaves to a tree, it __________ at all.

A) The general public B) The Duke's peers in Renaissance society

C) The Duchess's family D) The painter of the portrait

9. Who is the intended audience of "My Last Duchess"?

A) A girl from Ireland B) A girl from Scotland

C) A girl from Arabian Sands D) None of the above

10. In William Wordsworth's 'The Solitary Reaper', The Solitary Highland Lass' is:

A) ABAB B) AABB

C) ABCC D) ABCB

11. What is the rhyme scheme of "My Last Duchess"?
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Questions - UNIT-5 : TEST-1

A) (A) and (B) Only B) (A) and (C) Only

C) (B) and (C) Only D) (B) and (D) Only

1. In his "Self - Reliance" which two qualities does Emerson refer to as "the Chancellor of God"?
(A) Truth
(B) Cause
(C) Spirit
(D) E�ect
Choose the correct answer from the options given below:

A) John F. Kennedy B) George Washington

C) Theodore Roosevelt D) Abraham Lincoln

2. One of the most famous speeches in U.S. Presidential history is ʻThe Gettysburg Address .̓ Name the US President who
gave this epochal speech.

A) Lady Lazarus B) To Ariel

C) Daddy D) Ariel

3. Which of the following poems is not written by Sylvia Plath?

A) The comforts you have is the one you live B) The money you spend is the one you live

C) The happiness you have is the one you live D) The legacy you leave is the one you live

4. What is the name of the episode on Abraham Lincoln in the book
"The war years Volume III"?

A) Arthur Miller B) Arthur C. Clark

C) Arthur Marlowe D) None of the above

5. ʻDeath of a Salesmanʼ is a play written by

A) Educational Experiments B) Gothic Novels

C) Fairy Tales D) Political Ideologies

6. Hans Christian Andersen is famous for his:

A) Henry James, Edgar A. Poe, Nathaniel Hawthorne, Herman
Melville

B) Herman Melville, Nathaniel Hawthorne, Edgar A. Poe,
Henry James

C) Edgar A. Poe, Henry James, Nathaniel Hawthorne, Herman
Melville

D) Nathaniel Hawthorne, Edgar A. Poe, Henry James, Herman
Melville

7. Which one of the following groups of novelists has, in the given order, Captain Ahab, Hester Prynne, Roderick Usher, and
Daisy Miller as characters in their novels?

A) Another slave that was with Seth in the house before 124. B) Seth's cousin whos husband le� her.

C) Seth's supposedly reincarnated murdered daughter. D) The woman that comes to rescue Denver from depression.

8. Who is beloved?

A) Scarlet letter A B) Bird for freedom

C) A rose blossom D) A round pearl

9. Hester has embroidered what symbol onto her dress?

A) Abdul Kalam B) Emerson

C) Harold Abbot D) Dale Carnegie

10. "Envy is ignorance and imitation is suicide". It is a message from

A) George Bernard Shaw B) William Sydney Porter

C) Elijah Jackson Whitney D) Oswald Douglass Henry

11. What was O. Henry a pseudonym for?
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Questions - UNIT-5 : TEST-2

A) (iii) (iv) (i) (ii) B) (ii) (iv) (iii) (i)

C) (iii) (i) (iv) (ii) D) (iv) (ii) (iii) (i)

1. Match the following :
List – I
(a) Christina Rossetti : Goblin Market
(b) Matthew Arnold : Sohrab and Rustom
(c) Robert Browning : The Ring and the Book
(d) Arthur Hugh Clough : The Bothie of Tober-na-Vuolich
List – II
(i) The tale of a father who inadvertently destroys his son
(ii) Gently satiric account of an Oxford student on vacation
(iii) Story of pleasure-seeking Laura and the conventionally moral Lizzie who resists temptations
(iv) A sensational 17th century murder presented through multiple dramatic monologues
The right matching according to the code is :

A) Arthur Miller B) Arthur C. Clark

C) Arthur Marlowe D) None of the above

2. ʻDeath of a Salesmanʼ is a play written by

A) (a)-(iii), (b)-(ii),(c)-(i),(d)-(iv) B) (a)-(iv), (b)-(iii),(c)-(i),(d)-(ii)

C) (a)-(i), (b)-(iv),(c)-(iii),(d)-(ii) D) (a)-(ii), (b)-(i),(c)-(iv),(d)-(iii)

3. Match the author with the story:
a) Edgar Allan Poe    i. “The Fall of the House of Usher”
b) E.M Forster          ii.  “The Prophetʼs Hair”
c) Katherine Mansfield        iii.  “The Garden Party”
d)   Salman Rushdie      iv.  “The Celestial Omnibus”

A) (i) and (iv) are correct. B) (ii) and (iii) are correct.

C) (iii) and (iv) are correct. D) (iv) is correct.

4. Which of the following options is correct ?
(i) Transcendentalism was a philosophical and literary movement.
(ii) It flourished in the Southern States of America in the 19th century.
(iii) It was a reaction against 18th century rationalism and the skeptical philosophy of Locke.
(iv) Among the major texts of Transcendentalist thought are the essays of Emerson,
Thoreauʼs Walden and the writings of Margaret Fuller.

A) June 1 - June 3, 1864 B) June 1 - June 3, 1863

C) July 1 - July 3, 1863 D) July 1 - July 3, 1864

5. The speech honors those who died in the battle of Gettysburg. When did this deadly battle occur?

A) Benjamin Franklin B) Anonymous

C) Albert Einstein D) Ralph Waldo Emerson

6. What is the source of the quote "To be yourself in a world that is constantly trying to make you something else is the
greatest accomplishment." He was an advocate of and believer in "Self-Reliance".

A) It o�en explores themes such as man's feelings and place
in the universe

B) Most of it is set in urban environments

C) It o�en incorporates natural settings D) It o�en incorporates scenes of everyday life

7. Which of the following is NOT true of Robert Frost's poetry?

A) Free verse B) Blank verse

C) Villanele D) Ballad

8. Walt Whitman is o�en called the "father" of what form of poetry?
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Questions - UNIT-5 : TEST-3

A) Anne Bradstreet B) Robert Lowell

C) Walt Whitman D) Sylvia Plath

1. Emily Dickinsonʼs use of “open form” or “free verse” is comparable to her contemporary American poet,

A) The little girl gave it to someone, and could not find the
person later

B) A carriage drove my very fast, and she lost it as she
scu�led across the street

C) Someone stole the slipper while she removed them for a
while

D) The little girl gave the slippers to a homeless man

2. How did the little girl lose her slipper?

A) Willy Loman B) Estragon

C) Vladimir D) Lucky

3. Arthur Millerʼs Death of a Salesman relies for its tragic seriousness on the fate of :

A) Venus and Adonais B) Adonais and Hercules

C) Jupiter and Hercules D) Venus and Hercules

4. Willy in Arthur Millerʼs play Death of a Salesman compares Bi� and Happy to the mythic characters / figures

A) Henry James B) Sylvia Plath

C) Robert Frost D) Wallace Stevens

5. ʻThe Figure a poem Makesʼ is an essay by :

A) 1920-1940 B) 1910-1930

C) 1930-1940 D) 1900-1910

6. The new humanism school of philosophy and literary criticism was popular in America during :

A) Philip Larkin B) Stevie Smith

C) Ted Hughes D) Geo�rey Hill

7. Which post-war British poet was involved in a disastrous marriage with Sylvia Plath ?

A) Robert Frost B) Ezra Pound

C) Philip Larkin D) William Carlos Williams

8. Who among the following poets defined free verse as playing tennis without a net?

A) “The Ministerʼs Black Veil” B) “The Purloined Letter”

C) “Young Goodman Brown” D) “My Kinsman, Major Molineux”

9. Which of the following stories is NOT written by Nathaniel Hawthorne?
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Questions - UNIT-6 : TEST-1

A) 1 and 2 B) 1,2 and 4

C) 2 and 3 D) 1,2,3 and 4

1. Which of the following are the written works of Dr. Sarvepalli Radhakrishnan?
1. East and West: Some Reflections
2. The Philosophy of the Upanishads 
3. An Idealist View of Life 
4. Eastern Religions and Western Thought
Choose the correct option:

A) Mulk Raj Anand B) Raja Rao

C) RK Narayan D) Anita Desai

2. 'Coolie' is the creation of a well-known Indian writer Who is he ?

A) Chennai B) Bengaluru

C) Kochi D) Malgudi

3. The character 'Swami and friends' — created by R K Narayan — lived in the city of:

A) Lakshmana Sastry B) Pakshi Lakshmana Sastry

C) Ram Lakshmana Sastry D) Rameswaram Sastry

4. The name of the high priest of Rameswaram Temple was

A) teaching / enunciated B) message / broadcast

C) precept / advocated D) principal / presented

5. Comprehension
Direction: Read the passage given below and answer the questions that follow by selecting the most appropriate
option- The ancient Jewish doctrine of 'An eye for an eye, a tooth a tooth' teaches the message of revenge. Yet Jesus said
that, If one gets a slap on one cheek, one should turn the other cheek. That precept is opposite of the first one. It is
basically a message of non-violence. And that idea leads logically to the principle of non-violence as advocated by Mahatma
Gandhi. So we can, or should, subscribe to the idea that taking revenge is morally undesirable.
Even apart from the moral aspect concerning revenge, let us consider the practical aspect. In real life situations we see that
taking revenge is not advisable because one act of revenge by one person leads to the counter action by the other person,
ultimately there may be no end to the saga of hate and revenge which would be reenacted by the next generation, and then
the one a�er that. Where would it end? We see this revenge cycle in action in Shakespeare's play Romio and Juliet. Killing
goes on between the leading families till the final tragedy of the deaths of the two young lovers ends the fearful vendetta.
The ______ of non-violence was ______ by Mahatma Gandhi.

A) Feminism B) Love

C) Social Justice D) Identity

6. What is the central theme of "An Introduction" by Kamala Das?

A) his motherʼs earrings                    B) his old mother

C) his motherʼs youthful self           D) his youth

7. What is the narrator reminded of when he looks at the twisted backbone tree?

A) Hayavadana B) Tughlaq

C) Naga-Mandala D) Bali The Sacrifice

8. What was the name of the play by Girish Karnad that explores the themes of identity, love, and transformation?

A) Sukhatme B) Kashikar

C) Ponkshe D) Karnik

9. Who is the judge?
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Questions - UNIT-6 : TEST-2

A) Train to Pakistan B) Sunlight on a Broken Column

C) The Shadow Lines D) In Custody

1. Which of the following is NOT a Partition novel ?

A) (A) III and IV B) (B) I and III

C) (C) II and III D) (D) I and IV

2. Two of the following plays won the Sultan Padamsee Prize for Indian plays in English :
I. Princes
II. Where Thereʼs a Will
III. Larins Sahib
IV. Doongaji House
The right combination according to the code is :

A) dance forms B) theatre forms

C) languages D) music types

3. Hakki, Pikki and Siddi are ______ from Karnataka.

A) teaching / enunciated B) message / broadcast

C) precept / advocated D) principal / presented

4. Comprehension
Direction: Read the passage given below and answer the questions that follow by selecting the most appropriate option-
The ancient Jewish doctrine of 'An eye for an eye, a tooth a tooth' teaches the message of revenge. Yet Jesus said that, If
one gets a slap on one cheek, one should turn the other cheek. That precept is opposite of the first one. It is basically a
message of non-violence. And that idea leads logically to the principle of non-violence as advocated by Mahatma Gandhi.
So we can, or should, subscribe to the idea that taking revenge is morally undesirable.
Even apart from the moral aspect concerning revenge, let us consider the practical aspect. In real life situations we see that
taking revenge is not advisable because one act of revenge by one person leads to the counter action by the other person,
ultimately there may be no end to the saga of hate and revenge which would be reenacted by the next generation, and then
the one a�er that. Where would it end? We see this revenge cycle in action in Shakespeare's play Romio and Juliet. Killing
goes on between the leading families till the final tragedy of the deaths of the two young lovers ends the fearful vendetta.
The ______ of non-violence was ______ by Mahatma Gandhi.

A) Pt. Jawahar Lal Nehru B) Dr. Bhim Rao Ambedkar

C) Dr. Rajendra Prasad D) Dr. S. Radha Krishnan

5. Who among the following person said for the Fundamental Rights “a pledge to our people and a pact with the civilized
world”?

A) (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv) B) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii)

C) (a)-(iii), (b)-(iv), (c)-(ii), (d)-(i) D) (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii)

6. Match the following authors with the novels :
(Name of Author)
(1) Inheritance
(2) Listening Now
(3) Sister of My Heart
(4) The Heroʼs Walk
(Name of Novel)
(a) Chitra Banerjee Divakaruni
(b) Anita Rau Badami
(c) Anjana Appachana
(d) Indira Ganesan

A) The striders – The Relations – Second Sight – the Black Hen B) The Relations – The Striders – The Black Hen – Second
Sight

C) Second Sight – The Relations – The Black Hen – Striders D) The Black Hen – Second Sight – The Striders – The
Relations

7. The collected poems of A.K. Ramanujan has been divided into four sections. Arrange them in their chronological order :
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Questions - UNIT-6 : TEST-3

A) Gujarati B) Bengali

C) Marathi D) Kannada

1. Silence ! The Court is in Session is a _________ play translated into English.

A) Train to Pakistan B) Sunlight on a Broken Column

C) The Shadow Lines D) In Custody

2. Which of the following is NOT a Partition novel ?

A) Lal Singh B) Krishan Chander

C) Puran Singh D) Rahul Singh

3. A�er Independence, Mulk Raj Anand, wrote a number of semi-autobiographical works to narrate chunks of his own life
through a fictional persona. The name he gave this persona is _______.

A) Kamala Das B) R. Parthasarthy

C) A. K. Ramanujam D) Nissim Ezekiel

4. Which of the following poets wrote the essay “Naipaulʼs India and Mine”?

A) 3 2 4 1 B) 2 3 1 4

C) 3 2 1 4 D) 4 3 2 1

5. Match the following correctly :
1. Premashram
2. The Cat and Shakespeare
3. Coolie
4. Nagamandala
I. Mulk Raj Anand
II. Raja Rao
III. Prem Chand
IV. Girish Karnad

A) Daljit Nagra B) Vikram Seth

C) Amitava Kumar D) Arundhati Roy

6. Who among the following bought and renovated the house of the Anglican poet, George Herbert, near Salisbury,
England, in 1996?

A) Mulk Raj Anand B) Raja Rao

C) R.K. Narayan D) Anita Desai

7. Who, among the following Indian writers in English, has created an identifiable imagined locale ?

A) Kim B) A Passage to India

C) Train to Pakistan D) Private Life of an Indian Prince

8. Identify from the following the work Nirad C. Chaudhuri called “the finest novel in the English language with an Indian
theme”.

A) Football B) Cricket

C) Tennis D) Hockey

9. In R.K. Narayanʼs Swami and Friends, which game o�ers Swami the best kind of emotional release from the strains and
pressures of disagreeable circumstances ?

A) Kamala Markandya B) Mulk Raj Anand

C) Upmanyu Chatterjee D) Amitav Ghosh

10. Who among the following combines anthropology, history and fiction ?

A) Bhabani Bhattacharya – All About H. Hatter B) Nayantara Sahgal – Cry, the Peacock

C) Bhagwandas Gidwani – A Bend in the Ganges D) Arun Joshi – The Apprentice

11. Which of the following novel-novelist pair is correctly matched ?
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Questions - UNIT-7 : TEST-1

A) 4 1 3 2 B) 3 4 1 2

C) 1 2 4 3 D) 2 1 3 4

1. List I
a. The Apple Cart
b. Good Friday
c. The Return of Ulysses
d. The Forsyte Saga
List II
1. Robert Bridges
2. John Galsworthy
3. G.B. Shaw
4. Masefield

A) the Irish National Theatre B) the Globe Theatre

C) the Abbey Theatre D) both A and C

2. Which of the following was originally the Irish Literary Theatre?

A) Oscar Wilde B) Edward Carpenter

C) W.H. Auden D) E.F. Benson

3. The novel Maurice by E.M. Forster appeared posthumously in 1971. It had a homosexual theme, so Forster considered its
subject matter too indelicate for publication during his life time. It was influenced by a writer who was a socialist and open
homosexual. Identify the writer.

A) Christopher Marlowe and Andrew Marvell B) John Webster and John Donne

C) Seneca and Homer D) Thomas Kyd and Henry Vaughan

4. In his poem “Whispers of Immortality” T.S. Eliot says that a dramatist “was much possessed by death / And saw the skull
beneath the skin” and a poet “knew the anguish of the marrow / The ague of the skeleton.” Who are the dramatist and the
poet referred to by Eliot?

A) (a) - (i), (b) - (ii), (c) - (v), (d) - (iv) B) (a)-(i), (b) - (ii), (c) -(iii), (d) - (v)

C) (a) -(ii), (b) - (i),  (c) -(vi), (d) - (iii) D) (a) - (ii), (b) - (i), (c) - (iii), (d) - (v)

5. Below are two sets. Set - I mentions thinkers while Set - II consists of schools of thought associated with them. Match the
two and choose from the code to indicate your answer.
 Set - I  (Thinkers)  Set - II  (Schools of thought)

 (a) A.J. Ayer  (i) Linguistic analysis

 (b) Wittgenstein  (ii) Logical Positivism

 (c) Bertrend Russel  (iii) Neorealism

 (d) G.E. Moore  (iv)  Logical Atomism

A) W. B. Yeats B) James Joyce

C) Seamus Heaney D) none of the above

6. Which of the following writers did not come from Ireland?

A) Virginia Woolf B) James Joyce

C) E.M. Forster D) DH. Lawrence

7. A remarkable novelist of the English Modernist phase who wrote a short book on what the novel is (and why it matters)
remarked, “Oh dear, yes – the novel tells a story”. Identify the novelist:

A) Burnt Norton – The Dry Salvages – East Coker – Little
Gidding

B) Burnt Norton – Little Gidding –The Dry Salvages – East
Coker

C) Burnt Norton – East Coker – The Dry Salvages – Little
Gidding

D) Little Gidding – Burnt Norton – The Dry Salvages – East
Coker

8. Identify the correct chronological sequence of publication of the four parts of The Four Quartets.
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Questions - UNIT-7 : TEST-2

A) (A) - (III), (B) - (IV), (C) - (I), (D) - (II) B) (A) - (III), (B) - (I), (C) - (IV), (D) - (II)

C) (A) - (III), (B) - (II), (C) - (I), (D) - (IV) D) (A) - (III), (B) - (I), (C) - (II), (D) - (IV)

1. Match List I with List II
List I List II

A. Bertrand Russell I. The Verbal Icon

B. Thomas Strearns Eliot II. The Well Wrought Urn

C. W.K. Wimsatt III. History of Western Philosophy

D. Cleanth Brooks IV. The Sacred Wood
Choose the correct answer from the options given below :

A) The city B) The country

C) The desert D) The forest

2. The Magi who endured a di�icult journey across ---------- to witness the birth of Jesus

A) Victorian poet B) Romantic poet

C) Welsh poet D) Humorous poet

3. Dylan Thomas was very famous--------.

A) Shaw B) Butler

C) Moris D) Wells

4. Arms and the Man, Candida and Man and Super Man are written by:

A) Knowledge B) Problems

C) Ignorance D) Life of people

5. ComprehensionDirections: Read the passage given below and answer the questions that follow:
Ignorance is the root cause of all problems in the life of humans. Procrastination is good for nothing and hence, one should
avoid it. Dilatoriness will never help anyone. One of the ways to remove ignorance to some extent is the proper education.
We must understand that ignorance can't be removed completely from the human beings. A certain extent of ignorance will
exist in all because no one is perfect except, the Almighty, who created this universe. All humans are imperfect in one way
or the other, in nature and knowledge. All the human beings are half boiled eggs, none is fully boiled. This is the main
problem. But, the people who have high authority and position in the society think, they are know-it-all people and hence,
rule others. It is found that more knowledgeable and better people work under these authorized persons. The
knowledgeable people have to bear all the lame orders passed by their superiors.
What does the author talk about in the passage?

A) Cognitive B) Emotive

C) Behaviourist D) Constructivist

6. "To understand the importance of knowledge and wisdom of peers' - is valued in which perspective?

A) A plural form of Magi B) A singular form of Magi

C) An adjective of Magi D) None of the above

7. What does it mean by ʻmagusʼ?

A)  G.B Shaw B) John Drinkwater

C) Harold Pinter D) A.W Pinero

8. Identify from the following options the dramatist he does not introduce any villain in his plays?

A) The illness of her friend, evelyn whitbread B) The tea gathering she had planned with miss kilman

C) A luncheon she hopes to attend at the home of lady bruton D) A party she is throwing that evening

9. Mrs. Dalloway leaves her house to buy flowers for what occasion?

A) Laurence Sterne B) Charles Dickens

C) Daniel Defoe D) Robert Louis Stevenson

10. “The four wheels of English novel” comprises Samuel Richardson, Henry Fielding, Tobias Smollett and ______
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Questions - UNIT-7 : TEST-3

A) Love B) Sympathy

C) Tolerance D) happiness

1. What is the thing required for the rebuilding of civilization?

A) Edinburgh B) Halifax

C) London D) Bristol

2. Where was Robert Louis Stevenson born?

A) “If music be the food of love, play on”. B) “Fear no more the heat of the sun, Nor the furious winterʼs
rages”.

C) “Those are pearls that were his eyes”. D) “There is a tide in the a�airs of man”.

3. Which of the following lines by Shakespeare is repeated several times in Virginia Woolfʼs novel Mrs. Dalloway ?

A) Rezia and her sister B) His parents

C) The royal family D) Isabel pole and shakespeare

4. Whom does septimus join the army in the beginning of world war I to protect?

A) “If music be the food of love, play on”. B) “Fear no more the heat of the sun, Nor the furious winterʼs
rages”.

C) “Those are pearls that were his eyes”. D) “There is a tide in the a�airs of man”.

5. Which of the following lines by Shakespeare is repeated several times in Virginia Woolfʼs novel Mrs. Dalloway ?

A) Heart of Darkness B) The Man Who Would Be the King

C) Billy Budd D) Death in Venice

6.  Identify the story for which E. M. Forster wrote the libretto for its opera version :

A) The birth of Jesus. B) The star which guided the three wise men.

C) Several prophecies that were fulfilled. D) The journey of three wise men who came in search of the
Infant Jesus.

7. The poem the J̒ourney of the Magiʼ is based on the Biblical story of:

A) A  Passage  to  India-Mrs.  Dalloway-Ulysses  -  Pointed 
Roofs 

B) A  Passage  to  India-Ulysses  -  Pointed  Roofs  -Mrs. 
Dalloway 

C) Mrs.  Dalloway-Ulysses  -  Pointed  Roofs  -A  Passage  to 
India 

D) Pointed  Roofs-Ulysses-A  Passage  to  India-  Mrs. 
Dalloway

8. Choose  the  correct  chronological  order: 

A) Highways are full of robbers. B) It is dangerous to travel on highways.

C) We should help anyone that needs our help. D) We should pay the bills of fellow-travelers.

9. The story of the ʻGood Samaritanʼ teaches us that:

A) Three B) One

C) Two D) Zero

10. How many children do lucrezia and septimus smith have?

A) D. H. Lawrence B) James Joyce

C) E. M. Forster D) Virginia Woolf

11. The phrase ʻOnly Connectʼ is associated with

A) Uses his symbolism to create objective images. B) Uses his ability with words to create an objective picture.

C) Uses several images to create a three-dimensional e�ect. D) Uses many objects to communicate an idea.

12. An ʻobjective correlativeʼ is a kind of image in which the poet:
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Questions - UNIT-8 : TEST-1

A) origin of language B) relationship among languages

C) how languages change over time D) All of these

1. Linguistics is –

A) Now B) Go

C) Boy D) Got

2. The underlined part in one word is pronounced in the same way as the letter 'o' in about. 

A) discover the rules of grammar from the examples B) avoid errors completely

C) learn the grammar rules by rote D) write creatively

3. Under Constructivist Approach to language learning, learners are encouraged to

A) Universal Grammar B) Behaviour reinforcement 

C) Parental language input D) Cognition

4. The Innate Language Theory by Noam Chomsky was devised on the Language Acquisition Device and_________ 

A) Both Statement I and Statement II are correct. B) Both Statement I and Statement II are incorrect.

C) Statement I is correct but Statement II is incorrect. D) Statement I is incorrect but Statement II is correct.

5. Given below are two statements:
Statement I: Linguists, being primarily interested in the scientific study of language, approach language dispassionately.
Statement II: Linguists are necessarily polyglots who bring their own biases to language study.
In the light of the above statements, choose the most appropriate answer from the options given below:

A) syntax B) morpheme

C) phoneme D) pragmatics

6. Smallest unit of meaning in a language is

A) Detest + ible = detestible B) Ditest + able = ditestable

C) Ditest + eable = ditesteable D) Detest + able = detestable

7. Which of the following is the correct word-formation?

A) Acidic B) Assimilate

C) Assignment D) Assiduous

8. /əˈsɪdjʊəs/ is the phonetic transcription of:

A) Only I B) Only II

C) Both I and II D) Neither I nor II

9. Which of the following ways of looking at language restrict the versatility of language and its usage?
I. Language only as a means of communication.
II. Language as a pairing of a grammar and a dictionary.

A) Bloomsfield B) chomsky

C) Chaucer D) Ferdinand de Saussure

10. _________ is the father of modern linguistics.

A) A and B only B) A and C only

C) B and D only D) C and D only

11. In Noam Chomskyʼs definition of grammar which two features are drawn from mathematics?
A. complexity
B. abstraction
C. transformation
D. generation
Choose the correct answer from the options given below:
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Questions - UNIT-8 : TEST-2

A) (a) and (b) B) (b) and (d)

C) (c) and (a) D) (b) and (c)

1. Which of the following combinations correctly defines the phonological system of Indian English in relation to Standard
English?
(a) Absence of aspirated consonants
(b) Simplified vowel system
(c) Similar international pattern
(d) Presence of voiced aspirated consonants
Choose the correct option :

A) Phonology—Sound system B) Semiology—Ordering of speech sounds

C) Etymology—Sign system D) Morphology—Evolution of words

2. Which one of the following paired terms is correct in its explication?

A) the Newbolt Report; Sir Henry Newbolt B) the Woodʼs Despatch; Charles Wood, Lord Halifax

C) the Chatham Report; Earl John Chatham D) the Landow Document; Sir George Landow

3. The first major report on The Teaching of English in England was published in 1921. It is known as ________, named a�er
the Chair, Board of Education, _______.

A) One stressed syllable followed by three unstressed
syllables

B) One stressed syllable followed by two unstressed syllables

C) Two stressed syllables followed by one unstressed syllable D) Two stressed syllables followed by two unstressed
syllables

4. Which of the following descriptions fits the unit of verse, Dactyl?

A) Capital letters, exclamation marks, phrases in German B) Question marks, long sentences, phrases in French

C) Frequent ellipses, Latin sayings, comic non-sequitors D) Biblical phrases, capital letters, missing letters

5. Which among the following clusters matches the prose style that came to be known as ʻCaIyleseʼ?

A) Both (A) and (R) are true and (R) is the correct explanation
of (A).

B) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

C) (A) is true, but (R) is false. D) (A) is false, but (R) is true.

6. Assertion (A) : In so far as we are taught how to read, what we engage are not texts but paradigms.
Reason (R) : We appropriate meaning from a text according to what we need or desire, or, in other words, according to the
critical assumptions or predispositions that we bring to it.

A) Weak – ending B) Inversion

C) Alexandrine D) Extra Syllable

7. “More is thy due than more than all can pay” is an example of :

A) Collage B) Flashback

C) Montage D) Chiaroscuro

8. Which artistic technique best describes the interplay of light and shade in the following lines?
“I have looked at it so long
I think it is part of my heart. But it flickers.
Faces and darkness separate us over and over
A woman bends over me,
Searching my reaches for what she really is
Then she turns to those liars, the candles or the moon.
I see her back, and reflect it faithfully.”

A) Dell Hymes B) Noam Chomsky

C) Leech and Svartvik D) Henry Sweet

9. Who first developed the notion of ʻcompetenceʼ in language studies ?
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Questions - UNIT-8 : TEST-3

A) language is a means of communication B) language is symbolic

C) language is structural D) language is the only means of communication

1. Which among the following statements is not true?

A) noam chomsky B) ferdinand de saussure

C) edward sapir D) none of the above

2. Who defined language as “a set or (finite or infinite) sentences, each finite in length and constructed out of a finite set of
elements”

A) language is systematic B) language is arbitrary

C) language is dynamic D) language is instinctive.

3. Which among the following is not a characteristic feature of language?

A) ding dong theory B) the bow-vow theory

C) the pooh-pooh theory D) the gesture theory

4. The theory which is based on the assumption that language originated as a result of human instinct to imitate sounds:

A) onomatopoeia B) homophones

C) homonyms D) portmanteau

5. Words like ʻBuzz ,̓ ʻHiss ,̓ ʻthudʼ etwhich represents the sounds of their referents are known as ——–

A) plosives B) a�ricates

C) fricatives D) trill

6. /p/, /b/, /t/, /d/, /k/, and /g/ are examples for ——-

A) plosives B) a�ricates

C) fricatives D) trill

7. The initial sound in ʻchairʼ and ʻjamʼ are examples for—–

A) Three B) Six

C) Five D) Four

8. How Many syllables are there in the word intransigently?

A) /p/ & /b/ B) /m/ & /v/

C) /t/ &/d/ D) /k/ & /g/

9. Which among the following are bi-labial plosive sounds in English

A) the falling B) the rising

C) the fall-rise D) none of the above

10. Which of the following patterns of intonation, is used to indicate that
the speaker implies things which are not explicitly expressed

A) ferdinand de saussure B) edward sapir

C) leonard bloomfield D) herman gundert

11. Find the odd one out

A) plosives B) a�ricates

C) fricatives D) trill

12. /f/ and /v/ are called

A) compounding B) portmanteau

C) derivation D) backformation

13. ———–is a processes of word formation wherein two or more existing
words are simply combined.
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Questions - UNIT 9 : TEST-1

A) Plato B) Xenocrates

C) Phaedo D) Aristotle

1. Who among the following was of the view that poetry was only an imitation of an imitation and therefore trivial?

A) He asserted the value of poetry by integrating rhetoric and
imitation (mimesis).

B) He asserted the value of poetry by focusing on both
rhetoric and imitation (mimesis).

C) He asserted the value of poetry by giving preference to
rhetoric over imitation (mimesis).

D) He asserted the value of poetry by focusing om imitation
(mimesis) rather than rhetoric.

2. Which one of the following statements is true about Aristotle's poetics?

A) Aristotle B) Plotinus

C) Horace D) Longinus

3. Who among the ancients prescribed that poetry should both instruct and delight?

A) William Shakespeare B) Dante

C) Leo Tolstoy D) V.S Naipaul

4. Who wrote the epic poem "Divine Comedy"?

A) A, C and E only B) A and B only

C) B and D only D) E and D only

5. Which of the following are Plato's main objections against poetry?
A. The poet is an imitator.
B. The poet is incapable of bravery.
C. The poet, by fueling passions and emotions, weakens the reasoning capacity of the citizens.
D. The poet is less responsible.
E. The poet has no knowledge of the world.
Choose the correct answer from the options given below: 

A) Writers are likely to be mere entertainers who appeal to
the emotions and passions of the audience.

B) Texts created by poets are almost inevitably inaccurate
and defective as imitations.

C) The best artistic texts will be both complex and unified:
every part of the work will be essential to it and will be linked
to every other part.

D) Texts should be judged on the basis of how accurately they
imitate philosophical truth.

6. Which of the following is true of Aristotle's Critical Position?

A) A - 1, B - 2, C - 4, D - 3 B) A - 4, B - 3, C - 2, D - 1

C) A - 2, B - 1, C - 3, D - 4 D) A - 3, B - 4, C - 1, D - 2

7. Match the works with authors:
Works Authors

A. Image-Music-Text 1. M. H. Abrams

B. Why Marx was Right 2. Raymond Williams

C. The Mirror and the Lamp 3. Roland Barthes

D. Culture and Society 4. Terry Eagleton

Choose the correct option from those given below:

A) The Coherence theory B) The Intuition theory

C) The Revelation theory D) The Dogmatic theory

8. Which of the following is not a part of six theories of knowledge and truth?

A) Emphasize change B) Man is a social animal

C) Experimentalism D) Auto education

9. Which of the following principles is incorrect regarding pragmatism?
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Questions - UNIT 9 : TEST-2

A) Seven Types of Ambiguity B) The Heresy of Paraphrase

C) The Principles of Literary Criticism D) The New Criticism

1. It will be convenient at this point to introduce two definitions. In a full critical statement which states not only that an
experience is valuable in certain ways, but also that it is caused by certain features in a contemplated object, the part
which describes the value of the experience we shall call the critical part. That which describes the object we shall call the
technical part. This is taken from:

A) Advancement of Learning B) Gulliverʼs Travels

C) The Spectator D) An Epistle to Dr. Arbuthnot

2. Identify the work below that does not belong to the literature of the eighteenth century:

A) Only 1, 2, and 5 B) Only 3 and 4

C) Only 2, 4 and 5 D) Only 3 and 5

3. According to Longinus which are the sources of sublimity that cannot be cultivated?
1. Dignity of Composition
2. Appropriate use of Figures
3. Capacity for strong emotion
4. Nobility of Diction
5. Grandeure of Thought
Code :

A) “Signs taken for Wonders” B) “Mimicry”

C) Nation and Narration D) “The Commitment to Theory”

4. In which of his essays does Homi Bhabha discuss the ʻdiscoveryʼ of English In colonial India?

A) A magical power whereby poetry plays tricks on the
reader.

B) A divine power whereby poetry transmits a message from
God to the reader.

C) A moral power whereby poetry encourages the reader to
evaluate virtuous models.

D) A realistic power that cannot be made to seem like mere
illusion and trickery.

5. In the Defence of Poetry, what did Sydney attribute to poetry?

A) Douglas Dunn B) Seamus Heaney

C) Geo�rey Hill D) Philip Larkin

6. Who is the twentieth-century poet, a winner of the Nobel Prize for literature who rejected the label “British” though he
has always written in English rather than his regional language?

A) Longinus -- On The Sublime B) Sir Philip Sidney -- An Apology For Poetry

C) Samuel Johnson – Preface To Shakespeare D) John Dryden – An Essay Of Dramatic Poesy

7. “That praises are without reason lavished on the dead, and that the honors due only to excellence are paid to antiquity,
is a complaint likely to be always continued by those, who, being able to add nothing to truth, hope for eminence from the
heresies of paradox; or those, who: being forced by disappointment upon consolatory expedients, are willing to hope from
posterity what the present age refuses, and flatter themselves that the regard which is yet denied by envy, will be at last
bestowed by time.”
Who wrote this, and in which work?

A) For Yeats who died, for Auden who le� England for the U.
S.

B) For Eliot who started publishing verse–drama, for Hardy
whose Wessex Poems were published.

C) For Evelyn Waugh and Graham Greene, each for publishing
his first novels.

D) For Eliot, who won the Nobel Prize, and Orwell who
published his Animal Farm.

8. The year 1939 proved to be a crucial year for two important writers in England. Identify the correct phrase below:

A) Edward Said B) Michel Foucault

C) Jacques Derrida D) Roland Barthes

9. “Power circulates in all directions, to and from all social levels, at all times.” Who said this?
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Questions - UNIT 9 : TEST-3

A) To define justice B) To prove that Justice is worthwhile to pursue its own sake

C) To prove that justice is the advantage of the stronger D) To define justice and to prove that it is worthwhile to
pursue its own sake

1. What is Platoʼs aim in The Republic?

A) I and II are correct. B) II and IV are correct.

C) III and IV are correct. D) I and III are correct

2. What is Johnsonʼs opinion regarding the “Violation” of the three unities in the plays of Shakespeare?
I. Shakespeare should have followed the Unities.
II. Shakespeare followed the important Unity of Action satisfactorily.
III. Shakespeareʼs plays su�ered because they did not follow the Unities.
IV. Unity of Time and Place arise from false assumptions.
The correct combination according to the code is

A) It contains secret instincts and desires that are repressed. B) It is the only significant aspect of the human psyche..

C) It can never be accessed D) All of the above answers are correct

3. What did sigmund freud believe about the unconscious?

A) As an aesthetic object that is independent of historical
context

B) As an aesthetic object that is influenced by historical
context

C) As a historical object that is also aesthetid D) As a historical object that is not necessarily aesthetic

4. How did the new critics view literature?

A) Both sets of critics reject the importance of historical
context in studying literature.

B) Both sets of critics look for an objective way to view texts.

C) Both sets of critics study the underlying forms of texts.. D) All of the above answers are correct.

5. What do structuralist and formalist crtics have in common?

A) A term first used by literary theorists William Wimsatt and
Monroe Beardsley

B) A term that suggests that a critic should study the
structural and thematic elements of a poem rather than the
e�ect it has on the emotions of the reader

C) A term that describes the confusion between a poem and
its result

D) All of the above answers are correct

6. What is A�ective fallacy?

A) An approach that emphasizes literary devices in a text B) An approach that emphasizes the historical context of a
text

C) An approach that emphasizes the biographical intent of
text

D) An approach that emphasizes racial issues in a text

7. Which of the following descriptions best defines the literary theory known as formalism?

A) Cleanth Brooks B) Ferdinand de Saussure

C) Karl Marx D) Sigmund Freud

8. Which of the following figures is considered to be the father of the ligusitic theory known as structuralism?

A) Platoʼs The Republic” B) T.S. Eliotʼs “Tradition and the Individual Talent

C) Jacques Derridaʼs Of Grammatology D) Roland Barthesʼs “The Death of the Author”

9. Which of the followinf texts is the best example of the argument that a workʼs meaning does not come entirely from the
imagination of the author?

A) To connect human beings with a higher ideal B) To entertain those who enjoy it

C) To criticize through satire D) To bring to light social oppressions society

10. According to plato, what is the moral
purpose of art?
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Questions - UNIT-10 : TEST-1

A) A, B, D Only B) B and D Only

C) B, C and D Only D) C and D Only

1. If the statement 'All women are honest' is given as true, which of the following propositions can be inferred from it?
(A) 'No woman is honest' is false.
(B) 'Some women are honest' is true.
(C) 'No woman is honest' is undetermined
(D) 'Some women are not honest' is false
Choose the correct answer from the options given below:

A) Thomas Paine B) Edmund Burke

C) Giuseppe Mazzini D) Mary Wollstonecra�

2. ʻA Vindication of the Rights of Womenʼ is written by _____.

A) excavation B) environmental 

C) diplomatic D) missionary

3. Australian poet Judith Wright is known for her _______ work.

A) Lady Lazarus B) Ariel

C) Daddy D) To Ariel

4. Which of the following poems is not written by Sylvia Plath?

A) (A) - (III), (B) - (II), (C) - (I), (D) - (IV) B) (A) - (IV), (B) - (I), (C) - (II), (D) - (III)

C) (A) - (II), (B) - (III), (C) - (IV), (D) - (I) D) (A) - (II), (B) - (III), (C) - (I), (D) - (IV)

5. Match List I with List II 
List I List II

A. Sri Aurobindo I. The Old Playhouse and Other Poems

B. Kamala Das II. Calcutta : A Long Poem

C. P. Lal III. A Sheaf Gleaned in French Fields

D. Toru Dutt IV. Savitri
Choose the correct answer from the options given below :

A)  A and B only B) B and C only

C) C and D only D) B and D only

6. If 'some women are writers' is true, which of the following codes are CORRECT
A. 'All women are writers' false
B. 'All women are writers' is true
C. 'No women are writers' is false
D. 'Some women are not writers' is undetermined
Choose the correct answer from the options given below:

A) Lawyer B) Writer

C) Physician D) Dentist

7. What is John's profession?

A) Rosa Parks B) Benazir Bhutto

C) Martin Luther King D) Maya Angelou

8. Which human rights activist wrote this book in 1978?

A) It is a numerical concept B) It is biologically determined

C) It is the same as the sex of the person D) It is a social construct

9. Which of these statements is TRUE regarding 'gender'?
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Questions - UNIT-10 : TEST-2

A) A - II, B - I, C - III, D - IV B) A - IV, B - III, C - I, D - II

C) A - I, B - II, C - III, D – IV D) A - III, B - II, C - IV, D - I

1. Match List I with List II 
List I List I

A. Howard Warrender l. Vindication of the Rights of Woman: with Strictures on Political and Moral Subjects

B. Edmund Burke II. The Political Theory of Possessive Individualism: Hobbes to Locke

C. Mary Wollstonecra� III. Reflections on the Revolution in France

D. C. B. Macpherson IV. The Political Philosophy of Hobbes: His Theory of Obligation
Choose the correct answer from the options given below:

A) Amanda Gorman B) Alice Walker

C) Maya Angelou D) Gabrielle Gorman

2. In January 2022, who has become the first Black woman to appear on the US quarter, in a new version of the coin
unveiled by the US Mint?

A) Harriet Tubman B) Sojourner Truth

C) Julia Ward Howe D) Rosa Parks

3. In 1986, which famous abolitionist was commemorated on a 22 cent Black Heritage USA stamp which features a dual
picture of her?

A) Maya Angelou B) Rita Dove

C) Gwendolyn Brooks D) Nikki Giovanni

4. Who wrote the wonderful self-celebratory poems "Phenomenal Woman" and "Still I Rise", as well as the 1969
autobiography titled "I Know Why the Caged Bird Sings"?

A) Annie Besant, Sarojini Naidu, Margaret Cousin B) Pandita Ramabai, Ramabai Ranade, Sarala Devi
Chaudharani

C) Meharibai Tata, Suchetra Devi, Latika Ghosh D) Chimana Bai, Kamala Chattopadhyay, Anusayaben Patel

5. Women's India Association was formed in 1917. The organization was led by

A) (A) is only partly addressed in (R) B) (R) does not follow logically from (A).

C) (R) is (A) and vice versa D) (A) and (R) are most logically related.

6. Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason(R). Read the statements
and choose the correct answer using the code given below:
Assertion (A) : Gender studies do not see an urgent need to help us navigate the various pitfalls of racism, ethnocentrism,
cultural relativism, and plain ignorance that flow from using “culture” as an explanatory tool.
Reason (R) : Issues relating to Womenʼs rights, gender roles, sexuality and family obligations are centrally implicated in the
so-called clash of civilizations between Christianity or Secularism, and Islaam.

A) Willa Cather B) Eudora Welty

C) Edith Wharton D) Emily Dickinson

7. This author received the Pulitzer Prize for fiction in 1921 for her novel 'The Age of Innocence'. She also wrote about 85
short stories. She divorced her husband in 1913 and moved to France. One of her best friends was the American novelist
Henry James. Who was she?

A) Clare Booth Luce B) Edna Ferber

C) Joyce Carol Oates D) Lillian Hellman

8. This politician and journalist was also a successful dramatist. Her most popular play, 'The Women', satirizes rich, lazy
American women. Who was she?

A) Sara Teasdale B) Elizabeth Bishop

C) Elizabeth Barrett Browning D) Anna Sexton

9. This poet was born in England in 1806. She studied Greek, Latin and several modern languages. She married another
poet and moved to Italy. Her poems have been criticized for their overly sentimental quality. Who was she?
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Questions - UNIT-10 : TEST-3

A) Australia B) Ireland

C) The united states D) England

1. Judith wright wrote poems in and about ___?

A) Love B) Marriage

C) Divorce D) Betrayal

2. What is the central theme of Kamala Das's poem "Old Play House"?

A) They acquire manners before morals B) They are prey to prejudices

C) They understand the grand outline of history D) They blindly submit to authority

3. All of the following are true of women EXCEPT

A) In congress B) At a women's rights conference

C) At an abolitionism conference D) At a gathering of former slaves

4. In what context did sojourner truth first give this speech?

A) Children B) Animals

C) Kings D) Military men

5. Who does Wollstonecra� compare women to in regard to weakness?

A) It suggests that the speaker is homeless and has nowhere
to go

B) It shows the speaker's acceptance of her new life and
identity

C) It highlights the speaker's uncertainty and confusion
about her future

D) It implies that the speaker is willing to travel and explore
new places

6. What is the significance of the line "I have no house now; call me a dri�er / Who dri�s with the wind" in the poem "Old
Play House"?

A) Empowerment B) Anger

C) Frustration D) Fear

7. What feeling does the poem's repeated line—"i rise—suggest?

A) 1863 B) 1830

C) 1900 D) 1851

8. When ddi the phrase, 'Ain't I a woman,' first appear in a version of Sojourner Truth's speech?

A) Their disregard of order B) Their attraction to rakes

C) Their lack of bodily strength D) Their cultivation of weakness

9. What does "silently more misfortune than all the rest" for women?

A) Friendship B) Nature

C) Fantasy D) Religion

10. Wright's poems o�en deal with ___.

A) Melancholic B) Happy

C) Nostalgic D) Ironic

11. What is the tone of the poem "Old Play House"?

A) Assonance B) Synecdoche

C) Simile D) Metaphor

12. "Shoulders falling down like raindrops" is an example of which literary element?

A) She changed the words to reflect a southern slave dialect B) She added religious imagery

C) She deleted the religious imagery D) She changed sojourner truth's name

13. What was one way that Frances Gage changed Sojourner Truth's speech?
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Step 3: Type the OTP in “Your Verification Number” box (the OTP is sent to the given Phone 

number). 

Step 3: உங்கள் பதிவு செய்த அடைனபசி எண்ணிற்கு அனுப்பப்பட்ை OTP-ஐ “Your Verification 

Number” என்ற box-இல் சகாடுக்கவும்.  

 

Step 4 : Select the Option Get Started. 

Step 4 : Get Started என்ற Option-ஐ னதர்ந்சதடுக்கவும். 

 

 

Step 5: Choose the Exam Name. 

Step 5: எந்த னதர்வு என்படத னதர்ந்சதடுக்கவும். 
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Step 6: Choose the Subject. 

Step 6: எந்த Subject என்படத னதர்ந்சதடுக்கவும். 

 

 

 

 

Step 7: Select E- Book. 

Step 7: E- Book என்ற Option-ஐ னதர்ந்சதடுக்கவும். 
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Step 8: Select Again E-Book Option. 

Step 8: மீண்டும் E- Book என்ற Option-ஐ னதர்ந்சதடுக்கவும். 

 
 

Step 8: Select View More Option. 

Step 8: View More என்ற Option-ஐ னதர்ந்சதடுக்கவும் 

 

 

Step 9: After choosing View More Option its Display Units Wise Answer key 

Step 9: View More Option-ஐ னதர்ந்சதடுத்த பின் அைகு வாரியான விடைகள் மற்றும் விளக்கங்கள் 

Screen-ல் சதரியும் இடத உங்கள் Q.Bank புத்தகத்துைன் நீங்கள் ெரிபார்த்துக் சகாள்ளைாம்  
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னமலும் TCA வழங்கும் முழு மாதிரி னதர்வுகடள (full Test) எழுத  -  Online 

Test என்ற ஆப்ஷடன னதர்வு செய்து எழுதைாம்  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

__________________________________________________________________________________ 

TCA வழங்கும் Online னதர்வுடகடள எழுதுவதற்கு கீனழ சகாடுக்கப்பட்டுள்ள 

எண்கடள சதாைர்புசகாள்ளவும். 

95665 35080, 76399 67359, 93602 68118, 6369036346 

 

Thank You… 

 


